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FOUNDATION COURSE IN SCIENCE & TECHNOLOGY 

Time : 3 Hours 	 Maximum Marks : 100 

GENERAL INSTRUCTIONS 
1. All questions are compulsory. Each question carries 1 mark. 

2. No cell phones, calculators, books, slide-rules, notebooks or written notes, etc. will 
be allowed inside the examination hall 

You should follow the instructions given by the Centre Superintendent and by the 
Invigilator at the examination venue. If you' violate the instructions, you will be 
disqualified. 

Any candidate found copying or receiving or giving assistance in the examination 
will be disqualified. 

. The Question Paper and the OMR Response Sheet (Answer Sheet) would be 
supplied to you by the Invigilators. After the examination is over, you should hand 
over the OMR Response Sheet to the Invigilator before leaving the examination 
hall. Any candidate who does not return the OMR Response Sheet will be 
disqualified and the University may take further action against him/her. 

All rough work is to be done on the question paper itself and not on any other 
paper. Scrap paper is not permitted. For arriving at answers you may work in the 
margins, make some markings or underline in the test booklet itself. 

7. The University reserves the right to cancel the result of any candidate who 
impersonates or uses/adopts other malpractices or uses any unfair means. The 
University may also follow a procedure to verify the validity of scores of all 
examinees uniformly. If there is substantial indication that your performance is not 
genuine, the University may cancel your result. 
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How to fill up the information on the OMR, Response Sheet 

(Examination Answer Sheet) 

1. Write your complete Enrolment No. in 9 digits. This should correspond to the 
enrolment number indicated by you on the OMR Response Sheet. Also write your 
correct name, address with pin code in the space provided. Put your signatures on 
the OMR Response Sheet with date. Ensure that the Invigilator in your 
examination hall also puts his signatures with date on the OMR Response Sheet at 
the space provided. 

2. On the OMR Response Sheet student's particulars are to be filled in by blue/black 
ball pen also. Use blue/black ball pen for writing the Enrolment No. and 
Examination Centre Code as well as for blackening the circle bearing the correct 
answer number against the serial number of the question. 

3. Do not make any stray remarks on this sheet. 

4. Write correct information in numerical digits in Enrolment No. and. Examination 
Centre Code Columns. The corresponding circle should be dark enough and should 
be filled in completely. 

5. Each question is followed by four probable answers which are numbered (1), (2), (3) 
and (4). You should select and show only one answer to each question considered by 
you as the most appropriate or the correct answer. Select the most appropriate 
answer. Then by using blue/black ball pen, blacken the circle bearing the correct 
answer number against the serial number of the question. If you find that answer 
to any question is none of the four alternatives given under the question, you 
should darken the circle with '0'. 

6. No credit will be given if more than one answer is given for one question. Therefore, 
you should select the most appropria 4  answer. 

7 You should not spend too much time on one question. If you find any particular . 
question difficult, leave it and go to the next. If you have time left after answering 
all the questions, you may go back to the unanswered question. 

8. There is no negative marking for wrong answers. 
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1. The work attributed to astronomer Varahamihira is : 

(1) The earth rotates and heavens are still. 

(2) Eclipses are caused by Rahu and Ketu. 

(3) The earth is motionless and the sun, moon and the planets move around it. 

(4) None of the above 

2. History of Science is : 

(1) an account of contribution of great scientists. 

(2) an activity set for the goals for science to achieve. 

(3) story of interaction of science and society and their influence on each other. 

(4) general description of great scientific advances and achievements. 

3. Which one of the following is not the part of the mathematical-astronomical work 

"Sidhanta-Shiromani" written by famous Bhaskara II (born 1114 A. D.) ? 

(1) Lilawati 	 (2) Bijaganita 

(3) Goladhyaya 	 (4) Samkhya 

Choose the correct words to fill up the blanks : 

The dominant social groups use the inventions to 	 or extend their 	 

in the society. 

(1) new, changes 	 (2) strengthen, domination 

(3) inventions, socio-economic 	(4) secure, stagnation 
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5. Which feature does not correspond to the scientific knowledge ? 

(1) based on reason 

(2) open to change 

(3) creating new knowledge 

(4) personal faith and beliefs matters a lot 

6. Which of the following characteristics/uses of language in the primitive life has not 

aided the emergence of science ? 

(1) Communication while getting food and moving around. 

(2) Use of symbols to describe material objects, actions and practices. 

(3) Communication while making and using tools and exchanging surplus food. 

(4) Use of symbols to depict emotions, dances and rituals. 

7. The practice of agriculture arose in : 

(1) Bronze age 

(3) Primitive society 

(2) Stone age 

(4) None of these 

8. The incorrect factor that led to the decline of Bronze age civilisation is : 

(1) Rise and fall of several cities. 

(2) Invasions by nomadic barbarians. 

(3) Increase in population leading to a pressure on cities. 

(4) The emergence of two distinct groups of the producers and the appropriators. 
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9. Irztjurvedic period is : 

(1) 1500 B. C.-1000 B. C. 	(2) 1000 B. C.-700 B. C. 

(3) 700 B. C.--400 B. C. 	(4) None of these 

10. Theory of universal gravitation was proposed by : 

(1) Isaac Newton 	 (2) Tycho Brahe 

(3) Robert Boyle 
	 (4) Galileo Galilei 

11. Sushruta-Samhita is : 

(1) Surgery text 
	

(2) Astronomy text 

(3) Chemistry text 
	

(4) Mathematics text 

12. Largest planet of solar , system is : 

(1) Earth 
	

(2) Venus 

(3) Saturn 
	 (4) Jupiter 

13. Energy source in a star is provided : 

(1) when a star becomes stable 

(2) on the contraction of gas clouds and increase in its temperature 

(3) by balancing of inward gravitational pull by outward force of radiation energy 

in a star. 

(4) when the hydrogen nuclei in the core of the star fuse together to form helium 

nuclei. 
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14. Theory of chemical evolution gained support by the experiments of : 

(1) Miller 

(2) Darwin 

(3) Aristotle 

(4) Pasteur 

15. A galaxy is a collection of : 

(1) Planets and exoplanets 

(2) Solar system and exoplanets 

(3) Stars, gas and dust clouds 

(4) Solar system, gas and dust clouds 

16. Which of the following were first toolmakers ? 

(1) Australopithecus 

(2) Homo habilis 

(3) Hominids 

(4) Primates 

17. Age of fossils can be determined by : 

(1) radio-carbon dating 	(2) astronomical studies 

(3) morphological analysis 	(4) platinum-dating 
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18. Which of the following is inclusive of everything that affects an organism from 

outside ? 

19. 

(1) 	Atmosphere 	 (2) 	Environment 

(3) 	Forests 	 (4) 	Deserts 

Circulation of blood in human body was discovered by : 

(1) Napier (2) Greeks 

(3) Arabs (4) Harvey 

20 	 act on dead plants and dead animals for their existence. 

(1) Carnivores (2) Consumers 

(3) Producers (4) Decomposers 

21. Who gave the theory of natural selection ? 

(1) Lamarck (2) Watson and Crick 

(3) Darwin (4) Hargovind Khurana 

22. The Copernican Revolution was : 

(1) study of human anatomy. . 

(2) representing 3-dimensional figures in 2-dimensions. 

(3) a model of the solar system in which the sun was at the centre all planets 

included the earth rotate around it. 

(4) a model of stationary earth with sun and stars moving around it. 

FST-01 	 ( 7  ) 



23. Which among the following technical innovations did not lead to the Industrial 

Revolution ? 

(1) Use of steam-powdered engine. 

(2) Mechanical gadgets for spinning and weaving. 

(3) Mechanical devices for use in mining, metallurgy and agriculture. 

(4) Mechanical clocks. 

24. The Universities of Calcutta, Bombay and Madras were set up in : 

(1) 1823 (2) 1829 

(3) 1857 (4) 1913 

25. Which one of the following is incorrect ? 

(1) Green plants are producers in the food chain. 

(2) Nitrogen fixing bacteria convert atmospheric nitrogen into nitrates. 

(3) SO2 corrodes metals like zinc. 

(4) No living organism produces its own light. 

26. Who was the author of Srimad Bhagwat ? 

(1) Ghalib 	 (2) Onkar Bhatt 

(3) Vyas 	 (4) None of these 
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27. Which one of the following matches is incorrect ? 

(1) J. C. Bose—Plant Physiology 

(2) C. V. Raman—Scattering of Light 

(3) S. N. Bose—Study of Elementary Particles 

(4) D. N. Wadia—Statistics 

28. Which one of the following is incorrect about Scientific Knowledge ? 

(1) It is a dynamic and an ongoing process. 

(2) It is never complete. 

(3) It is a self-correcting enterprise. 

(4) It is not objective. 

29. 'Acoustics' is a study of : 

(1) light 
	

(2) bacteria 

(3) sound 
	

(4) None of these 

30. The distance travelled by light in one year is called one light year. It is equal to : 

(1) 9 x 1012  km 	 (2) 2 x 107  km 

(3) 3 x 108  km 	 (4) None of thittoty, 
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31. The patterns of stars or star groups are called : 

(1) Solar system 	 (2) Superclusters 

(3) Constellations 
	

(4) Clusters 

32. According to Kepler, the shape of the planetary orbits is : 

(1) Ellipse 
	

(2) Circle 

(3) Triangular 
	

(4) None of these 

33. Which one of the following is true ? 

(1) No resource on earth is non-renewable. 

(2) Renewable resources cannot be used repeatedly. 

(3) Renewable resources are inexhaustible. 

(4) Non-renewable resources can be regenerated in unlimited quantity. 

34. Which of the following is a protective food ? 

(1) Vitamins 
	

(2) Carbohydrates 

(3) Fats 
	

(4) Lipids 

35. Which one of the following cities was not a part of Indus Valley Civilization ? 

(1) Harappa 
	

(2) Lothal 

(3) Mohenjodaro 
	

(4) Kerala 
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36. The range of wavelength for which electromagnetic radiation is visible to our eyes 

is 

(1) 2x 10 m to 4 x 107 m 

(2) 4 x 10-7  m to 8 x 10-7  m 

(8) 10 to 1000 m 

(4) 6 x 10-9  m to 7 x 10-" m 

37. Which one of the following is incorrect ? 

(1) . X-rays are given by warm objects. 

(2) X-ray are used in medicine. 

4 
(3) UV-rays, X-rays and gamma rays carry huge amount of energy. 

(4) Gamma rays are used in cancer treatment. 

38. Which of the following has star mass between 8 M 0  to 15 M0  ? 

(1) White dwarf (2) Neutron star 

(8) Nova (4) Black hole 

39. Wavelength is measured in unit of : 

(1) Hertz (2) Metre 

(3) Watt (4) Joule 
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40. Which one of the following is incorrect ? 

(1) The outermost layer of the sun's atmosphere is called the corona. 

(2) Mercury possesses no atmosphere. 

(3) Mercury has two satellites. 

(4) Earth has one satellite. 

41. Which of the following gases is not produced during fermentation ? 

(1) Hydrogen sulphide 	 (2) Methane 

(3) Oxygen 	 (4) Carbon dioxide 

42. "Living organisms are produced from rotting food and other organic matter" is 

given by theory : 

(1) Theory of spontaneous generation 

(2) Theory of special creation 

(3) Theory of chemical evolution 

(4) Ancient Greek idea. 

43. AIDS is caused by : 

(1) bacteria 
	

(2) virus 

(3) fungus 
	

(4) algae 
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44. The study of the interaction of organisms with their environment is 

called 

(1) photosynthesis 	 (2) biotic 

(3) ecology 	 (4) abiotic 

45. Fill in the blanks in the given statement of food chain : 

Plant —* 	--0 Fish Man 

(1) Wheat 	 (2) Insect 

(3) Rat 	 (4) Snake 

46. An example of organisms that occupies more than one trophic level is 

(1) Man 	 (2) Insect 

(3) Rat 
	

(4) Snake 

47. Oceans are : 

(1) upper layer of earth's stratosphere. 

(2) largest and thickest ecosystem of earth. 

(3) part of earth's atmosphere. 

(4) lacking in microbial fauna. 
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48. Fill in the blank in the following statement : 

A layer of 	present about 25 km from earth's surface absorbs a great deal of 

incoming ultraviolet rays of sunlight. 

(1) ozone 	 (2) atmosphere 

(3) nitrogen 	 (4) hydrosphere 

49. Which one of the following is incorrect ? 

(1) The Chipko Andolan is the movement to hug trees for conservation. 

(2) Forests are the major processors of solar energy. 

(3) Forests occur throughout the world except the polar areas. 

(4) Oceanic waters that have high nutrient content, and support large variety of 

planktons appear yellowish. 

50. Which one of the following is correct ? 

(1) The pH of acid rain varies from 7.6 to as low as 6.0. 

(2) A compound called PAN (Peroxylacetyl nitrate) appears as a bluish haze. 

(3) Breathing ozone affects the respiratory and nervous system. 

(4) Ozone damages rubber articles and textiles. 
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51. Scurvy is a disease caused by deficiency of : 

(1) Vitamin K 	 (2) Vitamin A 

(3) Vitamin C 	 (4) Vitamin B 

52. Who among the following first observed tiny living organisms through lenses ? 

(1) Albert Einstein 	 (2) •Antonie van Leeuvenhoek 

(3) C. V. Raman 	 (4) S. N. Bose 

53. Which one is not the water-borne disease ? 

(1) Typhoid 	 (2) Hepatitis 

(3) Jaundice 	 (4) Malaria 

54. The loudness of noise is measured in : 

(1) Meters 	 (2) Hertz 

(3) Decibels 	 (4) None of these 

55. Which one of the following is correct ? 

(1) Exposure to a large amount of radiations can cause a number of diseases. 

(2) Radioactive wastes do not require any special treatment. 

(3) Radioactive waste materials are biodegradable. 

(4) Radioactivity cannot be used for rock dating. 
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56. Eutrophication is caused by : 

(1) algal blooms 	 (2) chlorofluorocarbons 

(3) sulphur oxides 	 (4) carbon dioxides 

57. Bhopal disaster is related with : 

(1) pollution of ground water 

(2) methyl isocyanate vapours 

(3) application of technOlogy 

(4) radioactive material evaporated and spread into the atmosphere 

58. Renewable resource is : 

(1) water (2) petrol 

. (3) gas (4) diesel . 

59. Nuclear reactor generates 

(1) Tidal energy (2) Atomic energy 

(3) Biogas (4) Geothermal energy 

60. Fly ash is used as : 

(1) Germ killing material (2) Cementing material 

(3) Nutrient (4) Pathogen 
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61. Which one of the following is essential for strong teeth ? 

(1) Iron 	 (2) Calcium 

(3) Zinc 	 (4) Chloride 

62. Which of the following is a non-infectious disease ? 

(1) Diabetes 	 (2) Cholera 

(3) AIDS 	 (4) Malaria 

63. Which civilisation came into existence around the river valley of Nile ? 

(1) Indus (2) Mesopotamia 

(3) China (4) Egypt 

64. Formation of fossil fuel is a part of cycle. 

(1) Carbon (2) Oxygen 

(3) Nitrogen (4) Water 

65. New International Economic Order (NIEO) was declared by UNO is the year : 

(1) 1970 (2) 1972 

(3) 1974 (4) 1978 
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66. The phenomenon wherein well-trained human resources leave their developing 

countries to developed world for better opportunities, monetary benefits and work 

is : 

(1) Immigration 	 (2) Moneylaundering 

(3) Braindrain 	 (4) Human movement 

67. Which scientist is remembered even today for his contribution to the study of 

floating bodies and hydrostatics ? 

(1) Archimedes 	 (2) Hippocrates 

(3) Aryabhatta 	 (4) Aristotle 

68. Kautilya who described state and its policy of Arthashastra' was minister of the 

king 

(1) Vikramaditya 	 (2) Ashoka 

(3) Chandragupta 	 (4) Chola 

69. The moderator used in nuclear reactor is : 

(1) Thorium 	 (2) Graphite 

(3) Beryllium 	 (4) Plutonium 

70. Human factor engineering is the study of : 

(1) human behaviour 

(2) human intelligence 

(3) efficiency of humans in working environment 

(4) human diseases caused by gene alteration 
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71. Raja Jai Singh established observatories in the beginning of 18th century in which 

of the places ? 

(1) Delhi, Jaipur, Ujjain 	(2) Srinagar, Hyderabad, Chennai 

(3) Udipi, Bangalore, Assam 	(4) Ropar, Lucknow, Kolkata 

72. Neurotransmitter is : 

(1) a functional unit of brain. 

(2) a chemical found in nephron. 

(3) a chemical that carries message from one neuron to another. 

(4) responsible for metabolism or organic compounds. 

73. Which one of the first satellites was launched to survey India's natural resources ? 

74. 

(1) 	INSAT 	 (2) 	IRS 

(3) 	PSLV 	 (4) 	MOM 

Which technical introductions from East had a greater effect on the West ? 

(1) Paper and Printing (2) Distillation of alcohol 

(3) Gunpowder (4) Compass 

75. Renaissance, revolutionary movement began in : 

(1) 800-900 A. D. (2) 900-1000 A. D. 

(3) 1000-1100 A. D. (4) 1440-1540 A. D. 
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76. Which of the following is used for navigation ? 

(1) Wind mill 	 (2) Horse collar 

(3) Compass 	 (4) Water mill 

77. The circular DNA molecule is called : 

(1) Plasmid 	 (2) Helix 

(3) Plastid 	 (4) Vesicle 

78. Which one of the following is a correct statement ? 

(1) Economically deprived people are bound to have low IQ. 

(2) IQ tests used in America are the best to use in India. 

(3) Measuring IQ is really measuring a person's mental age. 

(4) Highly creative people must have an IQ of 140. 

79. Who founded Aligarh Scientific Society ? 

(1) Syed Feroz Khan 	 (2) Syed Ahmed Khan 

(3) Hazi Nasrulah 	 (4) Imroz Khan 

80. According to the Piaget's theory of mental development children of 11 years and 

upwards : 

(1) can think and reason using hypothetical situations. 

(2) belong the preoperational period. 

(3) do not understand abstract concepts. 

(4) are informal in bell'AvioUr. 
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81. Planetary orbits are : 

(1) Circular 	 (2) Elliptical 

(3) Horizontal 
	

(4) Cylindrical 

82. Indian Institute of Science at Bangalore was established by : 

(1) J. C. Bose (2) P. C. Ray 

(3) Jamshedji Tata (4) Firoz Battliwala 

83. Reflexes are related to : 

(1) Autoimmune System (2) Hormonal System 

(3) Peripheral Nervous System (4) Central Nervout System 

84. Large number of semiconductor devices which are produced an a single chip to 

perform specific functions is called 

(1) Junction diode 	 (2) Integrated circuit 

(3) LASER 	 (4) CPU 

85. All planets except Venus and Uranus rotate on their axes in 

(1) Vertical direction 
	 (2) Horizontal direction 

(3) Clockwise 
	 (4) Anti-clockw*et 
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86.	is the property of LASER Light. 

(1) Scattering 	 (2) Coherence 

(3) Emission 	 (4) Diffraction 

87. Deficiency of iodine results in 

(1) Rickets 	 (2) Anemia 

(3) Goitre 	 (4) Nightblindness 

88. Tears and saliva contain an enzyme called as 	which destroys germs. 

(1) Pepsin 	 (2) Lysozyme 

(3) Lipase 	 (4) Amylase 

89. Which of the following soils is characterised by loamy texture, dry composition, 

variable thickness and is highly productive ? 

(1) Alluvial soil 	 (2) Red soil 

(3) Black soil 	 (4) Laterite soil 

90. Nitrogen constitutes 	percent of the atmospheric gases. 

(1) 49 	 (2) 59 

(3) 69 	 (4) 79 

91. Forests occur throughout the world except : 

(1) Tropical area 	 (2) Temperate area 

(3) Polar area 	 (4) Deciduous area 
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92. Which one is the likely effect of "Greenhouse effect" ? 

(1) Decrease in temperature of land and water. 

(2) Increase in temperature of land and water. 

(3) No change in temperature. 

(4) None of the above 

93. Which one is not a constituent of photochemical smog ? 

(1) Nitrogen dioxide 	 (2) Peroxy acetyl nitrate 

(3) Ozone 	 (4) Aluminium chloride 

94. Examples of Kharif crops are : 

(i) Rice, Maize, Ragi 	 (ii) Wheat 

Jowar, Bajra, Ragi 	(iv) Barley, Oat, Rye 

(1) , Both (i) and (iii) 	 (2) Both (ii) and (iii) 

(3) Both (i) and (iv) 	 (4) Both (ii) and (iv) 

95. Plants make their food using : 

(1) Wind energy 	 (2) Geothermal energy 

(3) Solar energy 	 (4) Atomic energy 
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96. Relationship between results of observation and experiments over a wide range of 
individual cases is called : 

(1) Hypothesis 	 (2) Law 

(3) Theory 	 (4) Qbservations 

97. Technology Policy Statement was issued by the government in the year 	 

(1) 1953 
	

(2) 1963 

(3) 1973 
	

(4) 1983 

98. Tea and arecanut are examples of which type of crops ? 

(1) Sugar crop 	 (2) Oil seed crop 

(3) Fibre crop 	 (4) Plantation crop 

99. Which one of the following is not a future communication technique ? 

(1) Telephone 	 (2) Video conferencing 

(3) Datafax 	 (4) Teletext 

100. Which one of the following is not a component of education and media in future 

plans ? 

(1) Establish radio stations in selected universities and colleges. 

(2) Provide a separate channel on television for education needs of various 

groups. 

(3) Provide mobile phones to all the secondary students. 

(4) Provide radio receivers and TV sets in all primary/elementary schools. 
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